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SECTION- Out of the given alternatives in below given items,

General English Comprehension choose the correct one reflecting meaning.
Each of the following items is followed by alternative 6. An unmarried man :
meanings of which only one is correct. Choose the (A) Bavhelor
correct.
(B) Miser

W To read between the lines :
(A) to suspect © Master
(B)  toread carefully O)  Free

Animals that can | ve on land and water °

~

(C) to understand the hidden meaning

of the writer (A)  Aquatic

) hi
(D) to do useless things ®) Adsarian

2 We must 'give up' our bad habits :

(A ——_— (®) Amphibious
(B)  leave (O)  Hibemator
(C) continue 8. A thing which easily catches fire :
(D) keep away (A) Fluorocert
3 The boy was ‘knocked down' by a truck : (B)  Inflammable
(A) washed away ©) Impatient
) removed 0) Oily

B

(C) crushed down ,
9. Animals that feed on grass :

(D

) pushed
(A) Carnivorous

4 One should not make 'irrelevant’ remarks :

(A) reasonable (B) Herbivorous

(B) meaningful (C) Insectivorous

(C) not being to the point D) Graminiverous

D) useful 10.  Custom of having many wives :
5 Samdar Patel was 'iron man': (A) Polygamy

(A) liberal man

(B) Monogamy
(B) a man of firm determination

C Bigam
(C) angry man © oo

D) Matrimony

(D) not caring
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Fill in the blanks in the following items : Section-ll / ®E-li
1. At last he yielded the temptation.

e Rl
(A)  for
B  about 16. g HH-A1 dET =% B 7
© to W g
o i ® =
12. Work hard_____you should fail. © e
(A) otherwise ©) E@ﬁ
17. el e & @ a9 9= &
(B) lest gs," |
(@) or ") XY
(D) else B
13. We sailed_____the river. ©) I
(A) in O
(B on 18. Wl B T B FHE 8 7
© A) @
(D)  down B) @™
Find the words opposite in meaning in given ©) aot
items. ) T
14. The soldier was 'Kind' : 19 T EH I AT ?
(A) peaceful (A) T
(B)  helping B8) W
(C)  cruel (©) afey
(D)  hate O
15.  The teacher was 'happy' with the student. 20, T JE=T o B © 7
(A) sad (A) 19
(B)  favour B HF
©) like C 38
(D)  pleased O - 9%

CET-B.ED.-A/35.000 (4)




21.

22.

23.

24,

25.
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B) 16

c 13

D) 15
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27.

28.

30.
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Direction :

X 2

32.

33.

34.
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SECTION-III
gus-lil
LOGICAL AND ANALYTICAL REASONING
af¥s ud faeuenes e

Study the following information
carefully and answer the
questions given below (Q.31to
34).

Six people are sitting facing the
center of a circle playing a game.
Vijay was on the left of Sudhir.
Amar was between Saurabh and
Rakesh. Neeraj was second to
Amar's left side.

Who was second to Vijay's right ?

(A) Neera

(B) Rakesh

(C) Amar

D) Saurabh

Who was between the Neeraj and Vijay ?
(A) " Rakesh

(B) Amar

(C) Sudhir

(D) Saurabh

Who was second to Amar's right ?

(A) Sudhir
B)  Viay
(C) Neeraj

D) Saurabh
Who was between the Vijay and Amar ?
(A) Saurabh or Neeraj

) Saurabh
(C) Rakesh or Saurabh
(D) Rakesh

(6)

e -

31.

33.

3y & 7 A B IS
ST i A IS e ”RY
Tu geAT &1 FAT A (SR 31

q 34)
g o T @9 gad g
ok gd A HE B ST
Iz w@ 88 @ [y, ge
% 9 oY OS¢, e
A @y F HA dn A,
I % 8 AT ZEL T W 1

Rror & Qe G gEY T T b o 7

A A

B) &I

€ I

O  drH

St I B & "= B o ?

(A) T
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© g
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35

36

38
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In each of the following questions,
various terms of a letter series are
given with one term missing as
shown by (?). Choose the missing
term out of the given alternatives
(Q. 35to 38).

FDJ, UEE, YGA........ [ DNV

(A) BJX
(B) CXJ
(©) BXJ
(D) XJB
ML P QPX, TRW, WTV
(A) NMY
(B) NNY
(C) MMY
(D) MNY
ZA, VE, R,.......... ; S
(A) LO
(E) MN
(@ NM
(0) OL
woecenr, ETCIM, MIETC, CTMIE
(A  ICMTE
(E) EITMC
(@) ECTIM
D) CIMTE

(7)

e -

35.

36

37

38.

Frfoifea od% uw &, ot
P T FEe & % ¥, Bt o
9% g 2, e b (2) anr awin
™ B R W Rt § A
HeEl & TG B (99 35 @
38)

PDJ, UEE, YGA,.....2......., DNV

(A)  BJX
B Cx

€ B

0  XxJB

KLZ,......2......., QPX, TRW, WTV
A  NMY

(B)  NNY

€  MMY

0)  MNY

ZA, VE, Rl, .2

(A) LO

B)  MN

€ NM

0 oL

.................... , ETCIM, MIETC, CTMIE
(A)  ICMTE

(B8)  EITMC

(C)  ECTIM

0)  CIMTE

[PT.O]
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39. (A):
(B):
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In each of these questions are
given two statements (A) and (B)
These statements may be either
independent causes or may be
effects of independent causes or
of a common cause. Read both
the statements and give answer

(Q. 39)

The prices of fruits have dropped
substantially during the last few

days.

The prices of foodgrains have
increased substantially during the

last few days.

If statement (A) is the cause and

statement (B) is its effect.

If staternent (B) is the cause and

statement (A) is its effect.

If both statements are effects of

independent causes.

If both statements are effects of
some Common cause.

39. (A)

(d)

9 7% 79T § (A) R B) A
o Ru @ ¥ F A @
WA 0T B T & 41 e
FHON A1 FHFT BT % IO
g wHd &1 A &
=g il (99 39)

fed gm R 3 dw W
# Fudl # W e o
2l

frew 48 Rl $ AT TR
f Fua § a3 g
2

afy Ho (A) BT B AR FA
(B) IEEH THE B

af% e (B) HITT & ST HIT
(A) FEH TG B

iy Fe (A) AR (B)E TaAA
FON & UG B

AR Fee (A) A (B) A Rl
R BT % T9E B




Direction :

40.

41
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In each question below is given a
statement followed by two
assumptions numbered | and |I.
You have to consider the
statement and the following
assumptions and decide which of
the assumptions is implicit in the
statement. (Q. 4041)

Satement : It is desirable to put the child in
school at the age of 5 or so.

Assumptions

I At that age the child reaches
appropriate level of development
and is ready to leam.

I, The school do not admit children
after six years of age.

(A If only assumption | is implicit.

(B If only assumption Il is implicit.

(C If neither | nor Il is implicit.

(o] If both | and 1l are implicit.

Statement :

A warning in a train

compartment - "To stop

train, pull chain. Penalty for

improper use Rs. 500."

Assumptions |. Some people misuse the
alarm chain:

Il.On certain occasions,
people may want to stop a

running train.
(A If only assumption | is implicit.
(B) If only assumption Il is implicit.
(C If neither | nor Il is implicit,
(D If both | and Il are implicit.

(9)

40.

41,

A R T ode g ¥ gea
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R ™ F o R W Fe
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ot 21 (59 40-41)
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% for Fam 2m ¥
Il 6 I B W D A e Fy
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© Aa T R &
O 1 A iR §
O FER | A -
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IERT & f 500 5. FoE A
g
A | : B AT FAH AT H
g marT Fea E
I %8 fadr sl w, af
Tddl o B VBT e
&
(A) 3R PaE | A s ¥
(B) AR Paw I AN SRl 3
© T IFE I T iR
Bl
O 130 1 3 el ¥
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Direction :

In each question below are two
statements followed by two
conclusions numbered | and II. You
have to take the two given
statements to be true even if they
seem to be at variance from
commonly known facts and then
decide which of the given
conclusions logically follows from
the two given statements,
disregarding commonly known

facts. (Q. 42-43)

42. Statements

All Rats are Cat.
All Cats are Dog

Conclusions :

l.
i.
(A)
(8)
©)
©)

Some Dogs are Rat.
Some Dogs are Cat.
If only conclusion | follows
If only conclusion Il follows
If both | and I follows

If neither | nor |l follows

43. Statements :

All Hens are Bird.

Some Goats are Hen.

Conclusions :

l.
ii.
(A)
(8)
(C)
(©)

CET-B.ED.-A/35.000

Some Goats are Bird.

All Hens are Goat.

If only conclusion | follows
If only conclusion Il follows
If both | and |I follows

If neither | nor |l follows

(10)

42,

43.

I

o
O
- 2

T Ry T we F & B A
& frepd 1 ol 0 RY MR
FA H g9 A9 g, O 3
R et | SR & /A 8
7 Fota i 6 R 7 Fret
% P-ar e R T
% SR G¥ e & ¥ e
21 (9e 42-43 )

a9 2@ faw 2
o Rt 1 2

PR T

%8 Rl

i aae | FreRd qeeTd Bl
it aw || Fred qeaTa B
afz | &l Il 3 FeE
afe | 3l || 2T qEbET T 2
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ol gfar fafsdl ¥

i 3 | Frepd qeed Bl
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45.
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The frain for Patna leaves every two and a
half hours from New Delhi Railway Station.
An announcement was miade at the station
that the frain for Patna had left 40 minutes
ago and the next train will leave 18.00 hrs,
At what time was the announcement

made ?

(A) 16.10 hrs.
(B) 17.15 hrs.
(C) 15.30 hrs.
(D) 15.15 hrs.

In a class of 60, where boys are twice that
of girls, Reena ranked seventeenth from the
top. If there are 9 boys ahead of Reena,
how many girls are after her in rank ?

(A) 12
(B) 13
C) 31
D) 21

iR

44

45,

T Rl a2 ¥ % o w2
& e & R 3 gedt ¥ 9% e
RIF T T IFEO Bt ® B v
R 40 e o w29 & o o
SR 3 1€:00 &5 g T Sghion
fe & g¢ ot ?

(A)  16.10 hrs.
B)  17.15hrs.
(C)  15.30 hrs.
D)  15.15hrs.

60 Reidi #f ww e ¥ w=a @
v wefE & gl ¥ B @ e
o F 1791 Bl AR 3E AR 9 e
&, & D I R asfer ¥ 7

A 12
B) 13
€ 3
O 2

[PT.0.]
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(a)

(b)

(c)

(d)

)

®

Study the following information
carefully and answer the questions
given below : (Q. 46. to 49)

Five persons - A, B, C, D and E
participated in a quiz contest.
One is master of sports, one is
master of current events and one is
master of art and culture.

A and D are unmarried ladies and
do not hold command in any
subject.

E is the husband in a married
couple.

B is the brother of C and is neither
master of current events nor art and
culture.

None of the ladies has command
over current events and sports.

46. Who is the master of Current Events ?

(A)
)
\®)
)

E
C
D
A

47. Who is the master of Sports ?

(A)
(8)
©
©)

A
B
C
D

48. Who is the master of Art and Culture ?

(A)
(B)
©)
©)

CET-B.ED.-A/35.000 (12

E

D
C
B

46.

47.

48.

U]

Frfefae gammell & STer
77, By W 9Ft & I AR
: (o1, 46-49 )

e dfadfier # i A, A B,
C.D 3l E wfewrh &

uF A B AR, TH e
geqalt & AREY X TH A
AR el B AT &

A 3l D o aiend & Al
I e Bl o R § @
Bl

£ fyafea e & ofd 2

B C & WE & 3T A q I
geaiall @ AT B AR A @
Fall A G Hl

% off Afeen, oweR ge
AR Fe AT HEBM W TS
& @ B

I e @ AT D & 7

A E

® C

€ D

o A

B H AT DA 8 7
A A

® B

€ C

@ D

el AT FEH B AT B ¢ 7
A E

| D

© C

© B




48 Who is the wife of E ?
(A) A
(B B
(C C
D D
Direction For the Assertions (A) and Reasons
(R) below, choose the correct
alternative from the following : (Q.
50-51)

50. Assertion (A) : Beri-Beri is a viral infection.
Reason (R) : Vitamin deficiency causes
diseases.

(A) Both (A) and (R) are true and (R)is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A) is true but (R) is false

D) (A) is false but (R) is true

51.  Assertion (A) : River Narmada flows
westward.

Reason (R) : Narmada falls into the Bay of

Bengal.

(A) Both (A) and (R) are true and (R)is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R)is
not the correct explanation of (A)

(&) (A) is true but (R) is false

D) (A) is false but (R) is true

CET-B.ED-A/35.000
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49.

50.

51.

E#l ool ¥ 2 2

A A
B B
© cC
© D

A : (A) -3 @ R

(R) e & 5 & Smifear
g &

A (A IR R) ¥ E R,
(A) & a8 T &

® (A AR (R I ¥ Ry (R)
(A) # aE e T8 B

© () 59t g R) o B
© (A T ¥ R (R) W B

AT : (A) T T qRem A e
B4 a9 B

(R) a1 & S o @
7 fired &

B (A AR (R) A F ¥ g ol
(R), (A) & G& wdiaor B

® @ R R F TEE Ry
(R),.(A) = Hér eqdiapror 7} 2

© (A &R g R) T Y
O (A @ E R R) T Y
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52.

53.
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Each question given below has a
statement followed by two courses
of action numbered | and Il. You
have to assume everything in the
statement to be true, then decide
which of the two suggested courses
of action logically follows fer
pursuing. (Q. 52-53)

Statement : School uniform is a burden on
the poor parents.

Courses of Action :

l. Poor parents should stop buying
school uniform.

II. Schools can provide subsidy on
school uniforms.

(A) If only | follows

(B) If only Il follows

(C) If neither | nor Il follows

D) If both | and |1 follows.
Statement :

School dropout rate is very high in the rural
areas as children support their parents in
income eaming activities.

Courses of Action :

l. Public Awareness programme on

" primary education should be

_ expanded immediately to educate
parents.

Il Compensation is not a remedy.
(A) If only | follows

(B) If only Il follows

(®) If neither | nor |l follows

D) If both | and Il are follows

(14)

52.

2l

g, dad HEAEl | FFEA

FL &l

R, 7 ar | 7 Il SFFECT FH
|

B
AR, | AR 0 A wEEeE
HE Bl
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|

afy, 7 & @EaE | 7 @ |
FFATT FH Bl

R, A HeaiEEr | ST
AT FA &




Directions :  Each question given below has a
statement followed by two
conclusions | and Il. Consider the
statement and the following
conclusions and decide which of
the following conclusions follow the
statement. (Q. 54-55)

54 Statement :

Sick people need medicine.

Conclusions
Healthy people do not need
medicine.
People keep medicine in their
home.

() If only conclusion | follows

B) If only conclusion Il follows

) If neither conclusion | nor Il follows

i9) If both conclusions | and Il are
follows

55 Statement :

The increasing population of our nation will

l2ad to depletion of many essential

rasources.

Conclusions :

I Population of our nation can be
controlled.

| The nation will not be able to
provide a.decent living to its
citizens.

(A) If only conclusion | follows

(B) If only conclusion Il follows

(€) If neither conclusion | nor Il follows

D) If both conclusions | and Il are
follows

CET-B.ED.-A/35.000
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A

54,

55.

e R W e g §
T A A Pt | ol ) F
PO W6 T ) ER FW g8
Frofg & 5 Pe-ar Frept Fuw
& Fmiv B B1 (9o 54.55)

T : AR AN Y oaar # de B

frepd

. @ AT B A B e T8l
{

I AT T BT H gar @y ¥

(A 3R, Faw et | P B

B) a4k, Faw Frepd || et B

€ 3R, 7 ar frerd | 7 & Frepd ol
fepear B

O iR, 3 Freed | ol 1 P
2l

o : BN G 3 Fgdl STEe § 71

EH Tl P B 2

P

I BAR W P SEE # i
o s gear B

I U o AR B I
g 939 HE F W wE A

A) 3R, Paw Frepd | P B

B IR, Faw Ferd || P ¥

© 3R, 7 ar Frepd | 7 & frepd )
Freperar 21

0 3R, I =i | v 1 PR
E{
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SECTION - IV
gEg -V
General Awareness
= ST
56.  Where "tomb of Humayun" is located? 56. gAY W Heha” e e =7
(A) Agra (A) SR
(B)  Lahore (B) TR
(C)  Delhi € Rt
D)  Ajmer D) S
57, Who started "Din-i-elahi*? 57,  “dW-u-gamd” e o fear?
(A) Akbar (A) HHET
(B) Aurangzeb (B) CHEUE G
(C)  Jahangir € SR
(D) Babar (D) EICES
58.  In which year the first battle of Panipat was 58 MY # S gS FE el T AT
fought ? (A) 1520
(A) 1520
B) 152
(B) 152
© 153 € 1532
0) 1626 O) 1626
59.  Who wrote "Humayunama"? 59.  “gEgAT fRa fovdl ®7
(A)  Gulbadan Begam (A)  TEEET &M
(B)  Humayun B &Y
(C) Abul Fazal (C) YA Hoiet
D) Noorjahan D) T‘ﬂ?ﬁ
60.  Where Mahavir was born? 60. WM & ST el gaml ol ?
(A)  Vaishali (A) el
(B) Kundgram (B) HISAH
(C)  Kashi ©) st
(D)  Kapilvastu 0)  iUeEe]
61.  Which one is the first Veda? 61.  @-a1 W g 27
(A)  Samveda (A) R
(B)  Yajurveda B) A
(C) Atharvaveda € S UCE
(0)  Rigveda D) W

CET-B.ED.-A/35.000 (16)




62

67

In which year Bengal was divided?

(A) 1904

(8) 1905

C) 1906

D) 1907

Who initiated Champaran Movement?

A) M. K. Gandhi

B) M. M. Malaviya

C) Gokhale

D) Rajendra Prasad

in which year Indian National Congress was

ounded?

A) 1880

B) 1884

'C) 1885

D) 1890

Birsa Munda is related to which state?

(A) Bihar

(B) Jharkhand

(C) Odisha

(D) West Bengal

Who has written Gitanjali ?

(A) R. N. Tagore

(B) M. K. Gandhi

(C) Mahadevi

D) Sri Aurobindo

Who is the Chief Minister of Bihar?

(A) Nitish Kumar

(B) Arjun Munda

(C) Sushil Modi

(D) Lalu Yadav
CET-B.ED.-A/35.000
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62

63.

64.

65

66.

dre & e e ad gan ar?
(A) 1904

(B) 1905
(C) 1906
(D) 1907

A)  wH. B, T
(B) UH. UH. HAHA

(C) e

D) T J91E

A TS i & e e ad
Gl

(A) 1880

B) 1884

(C) 1885

0) 1890

fean guer e U9 § dafa &7
(A fer

C)  Hewrel

O &t RE=

(A) T AR

® T g

€ gdwas  C
0) @Y 364
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68. What is the capital of Mizoram?
(A) Gangtok

(B) Aizol
(C) Guwahati
(D) Imphal
69. What is the capital of Uttar Pradesh?
(A) Lucknow
(B) Agra
(C) Patna
(

D) Varanasi

70. Patna is situated at the bank of which river?

(A) Kosi

(B) Ganga
(C) Gandak
(D) Ghaghra

71. Taj Mahal is located in which city ?
(A) Lucknow

(B) Ranchi
(C) Rajgir
(D) Agra
72. Which is known as the pink city?
(A) Bhopal
(B) Chandigarh
(€ Jaipur

(D) Ahmedabad
73. Who is the Chief Minister of Delhi?
(A) Manoj Tiwari
(B) Arvind Kejriwal
(C) Nadda
(D) Rajnath

CET-B.ED.-A/35,000
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68.

69.

70.

.

72.

13.

el g oY B R

(A) TR

B) 3T

© TR

0 T

I WY B T B & 7
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74 Kosi river is in which state ? 74, HE A9 e g # R

A)  UP. A g9

B) MP B) Y.

(C) Punjab € 9

(D)  Bihar O fEr

75 What is the capital of Nepal? 75. AU B TOEFT BN 87

(A) Kathmandu (A) PIEFTTG

(B) Pokhra (B) e

(C)  Mithila © Pl

(D)  Janakpuri 0 g

76.  Who is known as the 'father of computer? 76,  HFIET H I [HY el AT & ¢

(A) Pascal (A) IR
(B)  Hollerith B) By
(C) Newman (C) ?@'ﬂ
(D)  Charles Babbage O  ad F99
77.  India: Rupee : : Bangladesh : ? 7. ARG : ST ;o SRy 7
(A)  Frenk A BH
(B)  Taka B) T
(C) Leera ) @
(D) Dollar (D) B
78.  Myopia : Eye : : Meningitis : ? 78. "R : i : : Afeemfew ¢ ?
(A)  Kidney A T
(8)  Brain B)  HRT=H
(C)  Lungs © B
(D)  Liver O  feEw
79, Which is part of the earth ? 79. N G & WNT B 7
(A)  Atmosphere (A)  argHesd
(B) Hydrosphere (B) SEHISH
(C) Lithosphere (C) TFHSA
D)  All(A), (B)and (C) (0) @ (A), (B)T (C)
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80.

81.

82.

83.

84.

CET-B.ED.-A/35.000

The Dbiosphere of the earth

includes

(A) Atmosphere

(B) Hydrosphere

© Lithosphere

(D) All (A), (B) and (C)

A place on the earth can be shown with help
of
A Latitude

(

(B
(C
(D) None (A) and (B)

)
) Longitude
) Both (A) and (B)

What is the capital of Bihar ?
(A) Ranchi

(B) Bhagalpur

(C) Patna

(D) Gaya

Who is the governor of Bihar ?
(A) Nitish Kumar

(B) Phagu Chauhan

(C) Ramnath

(D) Anandi Ben

In which state Dr. B. R. Ambedkar was born?

(A) Madhya Pradesh
(B) Maharashtra
(C) Bihar

D) Jharkhand

(20)
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85

86.

87

89.

Pandit Deen Dayal Upadhyay belonged to  85.

which political party ?
(A) Congress

(B) Jansangh

€ BS.P

D) S.P.

Who is the writer of the book 'Agni Ki Udan'?  86.

(A) APJ Abdul Kalam
(3) M.K. Gandhi
(C) J.L. Nehru

) Mahadevi

Which article in the Indian constitution is  87.

related to imposition of President's rule in

states ?

(A) 352

(3) 35

C) 350

@ M8

Who is the president of India ? 88.
(A) Amit Shah

(8) Ramnath Kovind
©) Vainkaih Naidu
D) L. K. Advani

Which instrument measures eqrthquakes ?  89.

(A) Seismograph
B) Barometer
C) Manometer

D) Ameter
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90.

91.

92.

3.

94,

95.
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Which one is the biggest ocean on earth ?

(A) Pacific
(B) Arctic
(C) Indian
D) Atlantic

Which gas is mainly responsible for ozone
layer depletion ?

(A) SO,
B)  CO,
(C) CFCs
0)  NH,

Jakarta is capital of which country ?

(A) Malaysia

(B) Indonesia

(C) Thailand

(D) Mauritus

Which ocean lies to the west of India ?

(A) Arabian Sea

(B) Bay of Bengal

(C) Indian Ocean

(D) None

Who is the present defence minister of India?
A) Rajnath Singh

B) Amit Shah

C) V. K. Singh

(D) Ravi Shankar

R. T. E. Act, 2009 has been implemented
from which year ?

(
(
(

(A) 2009
(B) 2010
C) 2011
0) 2012

(22)
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SECTION -V / @Us-V
Teaching Learning Environment in Schools

fFueal d Bewr @ 5w & 9Rdw

96 Nhich of the following is the greatest
oroblem for a school ?
A) Lack of finances
'B) Lack of good infrastructure
C) Lack of good teachers
(D) Lack of students continuously
97 Which is the greatest quality of student for
learning ?
(A) good memory
(B) good communication ability
(C) hard work to leamn
(D) curiosity to learn
98 Which one is not the quality of a good
school ?
(A) Teaching of all subjects
(B) Conduction of debates and essay
writing
(C) No organization of games
(D) Well developed laboratories
99. Which of the following is not an example of
physical infrastructure of a school ?
(A) Playground
(B) Building
(C) Laboratories
(D) Librarian
100.  The educational institution with no barrier of
age of study is termed as ......... :
(A) Free institution of education
(B) Closed institution of education
(C) Evening institution of education
(D) Open education institution
CET-E.ED.-A/35,000
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What is the duration of higher secondary

education ?

(A) 4 years
(B) 3 years
(C) 2 years
(D) 1 year

Which is not desired in schools ?

(A) Regular attendance

(B) Good conduct

(C) Corporal punishment

(D) Awards

Which is a responsible cause of growing

indiscipline in schools ?

(A) Economic difficulty

(B) Lack of leadership by teachers
(C) Intervention by parents

(D) Growing aspirations

Which of the following is most effective for
promotion of learning, @mong school
students 7

(A) Lecture

(B) Dictation

(C) Guided activities

(D) Pictures

Which is not the part of co-curricuiar activities
in schools ?

(A) Debates
)

(B Music and song competitions
(C) Class lecture
(D) Drama

(24)
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106.  Primary school is a term used for which
class level ?
(A) Class | - VIII
(B) Class | - X
(C) Class|-V
D) Nursery classes
107.  The best way to teach a concept to students
is to proceed from ......... \
(A) Difficult to simple
(B) Known to unknown
(C) Unknown to known
(D) Abstract to concrete
108.  The duration of secondary education in India
s year
(A) 02
(B) 04
(€ 06
D) 05
109. The most potent reason of student
indiscipline in schools is
(A) Absenteeism of teachers
(B) Absenteeism of students
(C) Non-completion of course
(D) Non-involvement of students in
activities
110.  Which one is most important for a teacher ?
(A) Expertize in subject content
(B) Expertize in teaching skills
(C) Rapport with students
(D) Good health
CET-B.ED.-A/35.000 (25
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111. A semester consists of ______ month
duration.
A 04
(B) 03
(C) 06
(D) 05
112, Which one is not an element of positive
learning environment ?
(A) Motivating the leamner
(B) Creation of interest
(C) Control by force
D) Planning activities
113.  N.C.C. belongs to which of the following in
school ?
(A) Curricular activity
(B) Co-curricular activity
(C) Army activity
(D) Service activity
114.  Which one is not a literary activity ?
(A) Essay writing
(8) N.S.S.
(®) Debate
(D) Quiz
115.  If students make noise in the class, they
shouldbe
(A) Punished
(B) Beaten
(C) Sent out
(D) Engaged in activity
CET-B.ED.-A/35.000
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116.

117

118

119.

120.
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Which of the following is major cause of
decreasing ethical standards in the society ?
(A) Educational policy failure

(B) Poverty

(C) Lack of schools

(D) Lack of good teachers

Which is not part of 3R's ?

(A) Speaking
(B) Reading
(C) Writing

(D)  Arithmetic
Which is related to education of deaf &

dumb ?

(A) Braille

(B) Sign language
(C) Brailler

D) All (A), (B) and (C)

Which new term has been coined for
students who are deaf & dumb, blind or lack
some abilities ?

(A Special Need

(B’ Divyang

(C Included

D None of the above

Which one should be followed by a good
teacher in a class ?

(A Teach fast learners

(B Teach mediocre leamers

(C Teach slow learners

(D Teach (A), (B), (C) together

(27)
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